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m Find the number that completes each proportion.

3_a 3_12 c_12 2_12 8 _4
4 12 4 b 5 20 d 24 12 e
a=>9 b =16 c=3 d=4 e=206
f 10 5_ 25 10 _5 8 _ L 24 _8
10 5 g 100 100 ~h 4 16 k

f=20 g=20 h =50 j =32 k=18
9 _36 S0 _w 3_5 9 _15 2__r_
12 m 100 30 9 p 60 20 5 00
m = 48 w =15 p=15 qg =45 r=40
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problem Alan wanted to form a triangle out of straws that were 5 cm, 7 cm, and 12
solving cm long. He threaded a piece of string through the three straws, pulled the
string tight, and tied it. What was the area of the triangle formed by the three
straws?
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Write two unit multipliers for these equivalent measures:
3ft=1yd

We write one measure as the numerator and its equivalent as the
denominator.
3 ft

1y
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Select unit multipliers from example 1 to convert
a. 240 yards to feet.
b. 240 feet to yards.

a. We are given a measure in yards. We want the answer in feet. So we
write the following:

240yd - [ Yt o - g

multiplier
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We know our answer is reasonable because feet are shorter units than
yards, and therefore it takes more feet than yards to measure the same
distance.

b. We are given the measure in feet, and we want the answer in yards. We
choose the unit multiplier that has a numerator of yd.

1yd
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An Olympic event in track and field is the 100 meter dash. One hundred
meters is about how many yards? (1 m = 1.1 yd)

We can use unit multipliers to convert between the metric system and the
U.S. Customary System.

1.1yd
1005 - 1 = =
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Example 4
Tim can sprint 9 yards per second. Convert this rate to feet per second.

We write the rate as a ratio.

9vyd
1 sec

To convert yards to feet we multiply by a unit multiplier that has yards and
feet and that cancels yards. Three feet equals 1 yard.
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Practice Set Write two unit multipliers for each pair of equivalent measures:
a. 1yd = 36in.

b. 100cm=1m
c.16o0z=11b

Use unit multipliers to answer problems d-f.

d. Convert 10 yards to inches.
e. Twenty-four feet is how many yards (1 yd = 3 ft)?

f. Conclude Which is greater 20 inches or 50 centimeters
(1in. = 2.54 cm)?

20in. () 50 cm

Connect Use unit multipliers to convert the rates in g and h.

g. Convert 20 miles per gallon to miles per quart (1 gal = 4 qt).

h. When sleeping Diana’s heart beats 60 times per minute. Convert
60 beats per minute to beats per hour.
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